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1 The best soil structure for favourable physical properties is :

(t) Crumby and gramular (2) Platy and laminar
(3) Columnar and prismatic | (4) Blocky

% o iR T % o e g ey
(1) Tgwg qa H (2) we WY W Wi
() wweR T ey (4) @ Hgw

2 The natural aggregates of soil are known as :

(1) peds (2) clods
(3) fragments (4) gravels
a1 & wRpfad TeNd wEaW &

(1 U= Q) =
(3) ww= (4) %%

3 The degree to which a soil resists deformation when a force applied is

termed as :

(1) Field capacity (2) Capillary capacity

(3) Consistency (4) Friability

T T 9T ga W S fawaar @ wfady e @ orRen @y wed @
(1) &= s 2) wHMa e

(3) e (4)  JTgU

4 The soil has porosity of 40%, its void ratio is -
(1) 0.60 {2) 1.50
(3) 0.40 4 0.67
T B ATEA 40% T A THEl TH AU E -
(1) 0.60 (2) 1.50
(3) 0.40 (4) 0.67
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The following soil water is held due to adsorption forces -

(1) Gravitation water (2) Capillary water

(3) Hygroscopic water (4) Hygroscopic and capillary water
et g s aifstfva aat ao o o 2

(1) 7o =@ (2) Hiye o«

(3) orEEnE o (4) oETEE T W s

The rate of decomposition of lignins and phenolic compounds is :

(1) Rapid (2) Very slow

(3) Slow (4) Medium

R ot it iftet @ o (Rredem) i B
(1) o (2) wgd 4

(3) € (4) mEH

The decomposition of organic matter in soil reduces :

(1) Acidity (2)  Alkalinity

(3) Fertility (4)  Salinity

Tl W wEte g % emues (rwbew) § @w w ¥ o
(1) s (2) arlEa

(3) wExa (4) wEolEar

The suitable nitrogen fertilizer for sodic (Alkali) soils is :

(1) Sodium nitrate (2) Ammonium sulphate
(3) Urea (4) Ammonium chloride
il Eel & R Swge Tede s ¥ o

() s e @ enfem TR

@) A (4)  omifEm FwEs
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The SAR (Sodium Adsorption Ratio) of irrigation water is calculated with
the help of following formula ( concentrations of ions in me//7) .

MJ'++ +
(1) SAR= & (2)  SAR= Na
\l Cat+Mg™ \/Ca” +Mg
2 2
o Na©
G) SaR=—9 (4) SAR=
\/ Ca** + g™t J Na™ +Mg*™*
2 2

Riardee & @@ T oW (Wifvan sty eque) A e fre A @ fea
gy Wl geEar ¥ W ol @ ¢ (et @ A el sfeEdde ulh feer)

Mg™ Na*
(1) TEAUSR= +g — () U= -
\j(“a T+ Mg \](3a+++1’1v1{g;'+

2 2

++ Nat

G) TET AR = O 4) TE QA= a
\]Ca+++M o \/Na+ + Mg

2 2

Which of the following is a safe limit of RSC (Residual Sodium Carbonate)
of irrigation water proposed by Eaton (1950) 7

(1) <125mell (2) >25mell

(3) <5mell 4 >75mell
e & o wE & (oufite @iftaw sEhe) # wF @ gdda |
Fenfs 32 (1950) aRT weatad g % 7

(1) < 1.25 Tl simaeie wia feex

(2) > 2.5 Pl shFEwe win e

(3) < 5 el shEdee ufy feex

(4) > 7.5 Bl gfeReanie Wi e
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11 The disease resistance in plants is imparted by :

(1) DPotassium (2) Molybdenum
(3) Nitrogen (4) Manganese
drel # i e T@ § o ¥ 7

(1) aifim (2) wifersdem

(3) g (4) Hrli

12 The deficiency symptoms of Calcium and Boron are generally observed on :
(1) Young leaves in terminal bud
(2) Older leaves
(3) Lower ieaves

(4) Older and New leaves
Phaem wd I B TN F wew wuner: R 3 O¥
(1) i wiwaret @ aeor gfaal o

@) geer ufeEl o

(3) Praelr Rl W

@) g d qou e W

13  Application of murnate of potash is generally not recommended for :
(1) Wheat, Barley, Mustard
(2) Bajra, Sorghum, Maize
(3) Sugarcane, Sugarbeet, Tobacco
(4) Groundnut, Sesamum
WU Re weel # A offe dietw ¥ AgEErT @ IrgeiEn W @t
W 8 7
(1) W, =%, @

(2) 9, WR, A6

(3) T, g, dEg
(4) wedr, fod
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14  Diammonium phosphate contains :

(1) 46% N and 18% P,0; (2) 18% N and 46% P,0s
(3) 20% N and 20% P05 (4) 18% N and 20% P,Oj
SRIHTIH Bi%he N URT AT ¥

(1) 46% N Ui 18% P,0; () 18% N T 46% P,0;
(3) 20% N uwd 20% P,0; (4) 18% N wd 20% P,04

I5 The essential constituent of Chlorophyll is :
{1) Calcium (2} Sulphur
(3) Nitrogen (4)y Iron
wieha &1 a[EEs s@ad ©
(1) Hivgam (2) T
(3) TR (4) e

16 The "Khaira disease” of paddy is mainly due to the deficiency of :

(1) Iron (2) Manganese

(3) Zinc (4) Copper

g A g T qeEadl e a @B w9 s &7
(1) @ (2) A

(3) Wl (4) dtan

17 Which of the fertilizer contains citric acid soluble phosphoric acid ?

(1) Basic slag (2) Rock phosphate

(3) Single super phosphate (4) Triple super phosphate

BT ¥ S F s o A golle wienie oF URT ST ¥ O?
(1) <R =M ) b wiEse

(3) R gaX wiehe @) fuw guv wighe
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20

21

Odd out from the following which does not relate to chain survey.

(1) Metric chain (2) Jacob's chain
(3) Gunter's chain (4) Engineer's chain
(i <1 B B S £ B S LR O

(1) WARw o (2) w@a =F

() TR = @) $fafrx @

Which of the following field is largest ?

(1} Field-A : 10 square kilometer (2) Field-B : 100 hectare
(3) Field-C : 625 acre (4) Field-D : 2500 vigha
et o 4 &9 W wies waw 981 § 7

(1) We-A ;10 waE feaider (2) wies-B @ 100 ¥4I
(3) We-C : 625 &S (@) wWies-D : 2500 &ran

Which one of the following is the latest survey equipment ?

(1) DGPS (2) Theodolite
(3) Total survey station (4} Dumpy level
e & ¥ =9 @ enyfee wdaw SuEer § 7

(1) Sdrog. (2)' ArsieiaEe
(3) <=9 T WIN (4) su waw

The line joining the places having equal rainfall is called -

(1) Isobaths (2) Isohyets

(3) Isotherms (4) Contours

T Ul BN A WA W S dml Y SR 5 —
(1) ensERE (2) oMEEIEEE

(3) orEEIEH (4) =g
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22 A convenient starting point to describe the hydrologic cycle is in the -

(1) ocean (2) lake

(3) earth ' (4) atmosphere
A U% & U &g G99 glauewes wilhe fEg o' -
(1) weEr 2) ¥

(3) 9= (4)  awERT

23 In hydrologic analysis the volume of water is often expressed as -

(1) Average depth over the catchment

(2) m?
(3) m%unit area of the watershed
4 md/s

o faseme ¥ W@ uee ) WM weita T wmam ¥ -
(1) werrew &= ¥ offa e

(2) w1 "X

(3) =W AR W UHE SRR &

@) 99 9 %9 S

24  Recurrence interval or return period of a rainfall event is expressed as -

(1) T=1/P 2) T=K-p

G) T=p)"? 4) T=N+l/m

el & Rt @ sreen fete =09 & @ 99 g0 weiia femn
e -

(1) T=1/P ) T=K-p

G) T=(p)'? 4) T=N+1/m

25 Tropical cyclone is called as :

(1) hurricane (2) anticyclone

(3) convective cyclone (4) reverse cyclone
SwEpfealea Twa B 9% W HE W §

(1) & (2) vfa wsha

(3) HIE WwhA 4y Tag wpaw
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26 Run-off coefficient is higher of -
(1) agriculture lands (2} barren {ands

(3) forest lands (4) grass lands
foraen omare e ofye g ¥ O?

(1) i g @) Fem qf

(G) = i 4) v

27  An erosion with intensity ranging from 0.5 to 5 m¥/ha/year is considered
to be -

{1) insignificant erosion
(2) shlight erosion
(3) severe erosion

(4) geological erosion

IT HeM REH dEl 0.5 @ 5 ud dexRAeyad ¥, @l ue o § -
() iy wem O

() wafew weE @ e s

28 Hydrologic soil group-C contains -
(1) clay loam and shallow sandy loam
(2) heavy plastic clay
(3) certain saline soil
(4) deep sand
v E w0 gk ¥ -
(1) fod oF serw ags
) Wil wifes o B
(3) Tima st gy
@ Teh A b
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30

31

Which of the following conditions would lead to the most soil erosion ?

(1) Heavy rainfall (from a single storm) i an area of low average annual
rainfall.

(2) Steep slopes in a tropical rainforest.

(3) An agricultural region where soil conservation practices are
implemented.

(4) An area that has been urbanized for several decades or more.

e & ¥ e @ Ry oiye i &1 oo § 7
(1) &9 ofma aife aul & &= § wil aut (we awl gog =)
(2) oAaUS TETEH SWEEAY 99 o9 &5 o

(3) PN FF Sl q WE IYY AU T F

(4) 9% @9 Ef B3 WA U TN TAE T OB

Rill erosion usually begins in the -
(1) lower part of land slope (2) upper part of land slope

(3) middle of land slope (4) entire length of land slope
g AW I @ Bl § -

() g oo & Trad &= § (2) 9ft so@ & a0 & #

(3) 4ft som & ww ¥ (@) A e W el W= o

The limit of slope length at which soil erosion begins at called as -

(1) optimum slope length (2) critical slope length

(3) allowable slope length (4) unit slope length

TAM g W g B o il @ we gE g ¥, #E W ¥ -
(1) ofeaq sam @ (2) wias sad T&@w

(3) SR AN TS 4) IBE WM W
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32

33

34

35

Erosion intensity of sheet and wind erosion is expressed as -

() m/ha _ (2) tons/ha

(3) m/s (4) both (1) and (2)

U AU AY B @l ATTET dedl @ oEw e o §o-
() &F 9T via &3 (2) =T Ul FRx

(3) W WX ufa @S (4 TE (1) T Q)

Longitudinal slope of gully bed is almost parallel to the adjoining land
slope. It is generally found in case of -

(1) V-shaped gully (2) U-shaped gully

(3) inactive gully (4) active gully

SEIeeRt Ot 1 SE oA "l i % TN HOER Sl § g8 Wi
ERERCEE AR A S U

(1) & et araAieraT (2) g STERIT TSI

(3) THfpT sremietan (4) wiha SramTTS!

In surface creep process the transportation of soil particles varies from -

(1) 3 to 38% (2) 55 to 72%

(3) 80 to 90% 4y 7 to 25%

Tae faadw gften & 921 @0 &1 oResy @6 = 7w § -
(1) 3 ¥ 38 iy (2) 559 72 ylasa

(3) 80 ¥ 90 Wi 4) 7/ 25 wlaew

K.E. > 25 index method for computing rainfall erosivity factor (R), does
not consider the rainfall of intensity -

(1) more than 25 mm/h (2) 25 mm/h
(3) less than 25 mm/h (4) 30 mm/h

aui @ Bw (MR T & fMu suErt et it KE. > 25 e
aul & dEgd W A TE s 7

(1) 25 e via v € st
(2) 25 PeimEz 9id =ve
(3) 25 TPrrfier ufq wver ¥ &9
(4) 30 Thelmyex wid =ver
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37

38

39

The runoff water volume of 1000 MCM (Million Cubic Meter) equals to -

(1) 100 ha. cm (2) 1 cublic kitometer
(3) 1000 ha. em {4) 10 cubic kilometer
o SuaE SEad 1000 MCM  (frfras wfae dex) e & swmw ¥ -
(1) 100 FTFT F=nre (2) | =fas feenifier
(3) 1000 ¥TRX F=HRI (4) 10 =fys ReamRz

In general the contour bunding is practiced in all type of soil except -
(1} clayey and black cotton sl (2) loamy soil

(3) brown soil (4) highly permeable soil

e g 9y e oyer @ e @ sew ol il §
SRl ¥ -

(1) = o @l Bl (2) Tow agd &

G) it W= @) sl r R

The permissible flow velocity for design of diversion drains to be under
a good grass cover is taken as -

() 1.5 m/s (2) 20 m/s

3 2to25m/s 4 25to3 m/s

I TE Y AT Tl e AR WowEw 9 o W ow -
(1) 1.5 9= 9id 9% (2) 2.0 HArX T FETS

(3) 2 | 2.5 HizX ¥id gavs 4) 25 % 3 9T gig dwee

Revised Universal Soil Loss Equation (RUSLE) estimates -

(1) monthly sediment yield (2} average annual soil loss

(3) gross soil erosion (4) average annual sediment yield
T gl gt s @i ¥ MO @ SR § -

(1) wes qEse (2) of|a a® J&1 B

(3) uHE & & 4) offee =ii® duse Sue

94_A] 12 [Contd...



for more materials visit www.educationobserver.com/forum

40

41

42

43

In India, among the major and medium rivers of both Himalayan and
non-Himalayan categories, how many flood prone area are found 7

(1) 25 2) 7

(3) 18 (4) 15

aRa H Rama ok -fEmw @9 9 ¥ ogeq ot wew aRal %
drg Bha WX & 916 Wog &9 UH W & 7

(1) 25 2) 7

(3) 18 @ 15

Double row brush wood check dams are economically constructed to control
the gullies of -

(1) 1.5 to 2.1 m width (2) 1.5 to 2.t m depth

(3) 5 to 10 m depth (4) 3 to 5 m depth

T 991 ge o@dy @y sEive F Foisen 3g @@ W ¥ -
(1) 1.5%¢ 21 A 9= (2) 1.5 % 2.1 #iey WY

(3) 5 ¥ 10 dier =L (4) 39 5 DX ™

Drop inlet and chute spillways consist of -

(1) inlet and outlet (2) inlet, conduit and outlet
(3) weir and outlet (4) earth dam and outlet

s TR TE g Raw A A @ ¥ -

(1) T IR SIEede (2) T, Heg T ¥
(3) WX 3T oN¥HL (4) oREH AR A"

In LUCC system, the sub-classes indicates the problem of -

(1) soil type (2) major land use

(3) slope (4) slope length

qi S guar @iteer (LUCC) & ofid Suat &&l, 38 99l &
T wE T -

(1) f R @ geg i I

(@) =™ (4) @ @ wEE
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44  Strip cropping technique for erosion control is more effective when it is

practiced under -

(1)
G)

crop rotation

terracing

{2) bunding

single cropping system

e A e Y wed 3 ofhe yudl ¥ oaR 3o ogue wy

U W —

(D)

45 Contour bund length in meter per hectare is given by -

(D
)

Ww <sh

10000 / H1

VI/S x 100

TS HEA UG

S/EL x 100

HI/S x 100

THIG HS %l WERE e Y 39l 3@ YF T 9 Gl Al & -

(1)
€)

46  Soil erodibility nomograph was derived by -

(M
)
&)
C

i A TEmw s9s & K T o4 —

(1)
2)
(3)
(4)
94_A]

10000 / HI

VI/§ %100

Wischmeir et al (1971)
Williams (1964)
Wischmeir and Smith (1978)

Kenneath et al (1991)

Wischmeir et al (1971)
Williams (1964)

Wischmelr and Smith (1978)
Kenneath et al (1991)

14

S/EI x 100

HI/S x 100
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47

48

49

50

The evaporation pan coefficient of class-A pan is generally taken as -

(1) 7.0 (2) 0.70
(3) 0.07 4) 1.2
FE-A U H A A 9 7Ol BT AN At & -
(1) 7.0 (2) 0.70
(3) 0.07 4 12

The most suitable structure for drainage line treatment followed in all
regions of Southern Rajastan is -

(1) Loose stone check dam (2) Graded bund
(3) Contour bund 4) PRT

ol T % |l g o oW e A Sua ¥ WU §ed Suged
T ? -

(1) oEg Ty 4y (2) vahrg dg

(3) wdE q9 (4) Weman

The structure with masonry wall constructed across a nala for the purpose
of water harvesting is known as -

(1) Culvert (2) Anicut

(3) Farm pond (4) Percolation tank

W GO W 3g TW uX T RAE gea ueehl d@Xee @ S
Sl ¥ -

(1) e (2) Tz

(3) W e @) orEay qe

An imaginary line on which the reduce level is same at all the points is

known as -

(1) ndge line (2) valley line

(3) straight line ' (4) contour line

% wrahe Y ae T frgesll X aw AW uw A 8 wE S ¥ -
(1) R wmw= () el @

() e @ (4) dEX W
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51

52

53

54

If the 1 mm rain water is infiltrated through ground surface of 1 ha field,
then total volume of water infiltrated into the ground will be -

(M 1 m (2) 10 m?

(3) 100 m? (4) 1000 m?

i 1 el Tul S oq @ |@de B 1.0 TR &N § e Bl
T g A g@ feam W@ emwmmiEd wEmo?

(1 Hred (2) 10 Hed

(3) 100 #rew (4) 1000 WL

The following watershed gives highest peak discharge for the same area -

(1} Fern shaped (2) Fan saped

(3) Square shaped (4) Rectangular shaped

T gAH a9%d a9 e ¥ @ @ areeie arfbean g ex dm?
(1) %4 SRBIX @ (2) ®F AHT &

(3) aHR (4) SRR

The time required to move the water from remotest point of watershed
to the outlet is called as -

(1) unit duration {2) run-off duration

(3) time of concentration (4) effective rainfall

STeretl % 3 fag @ swvew & Few fag oo s e 1y sasas
I Bl BEd § -

(1) e e@ty (2) orqEE SEty
(3) TR W HEHU (4) wurE Tu

For any watershed the values of sediment delivery ratio is always -

(1) more than 1 2) 1

(3) less than 1 (4) 2.5

foedl ot s @9 ¥ geme RATd oUW @i W wEsT dar ¥ -
(1) =9 s 2 W@

(3) Tk ¥ wA 4 25
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56

57

Side slope of medium gullies varies from -

(1) 8 to 15% ' (2) 2 to 3%

(3) S5 to 7% 4) 3 to 6%
Heqq el B WYd oW sa% 499 Ba ¥ -
(1) 8 ¥ 15 uiysm ) 2 ¥ 3 vwaew
(3) 5 ¥ 7 wiugW (4) 3 ¥ 6 gy

The shape of the watershed is generally expressed by -

(1) Form factor (2) Basin shape factor
(3) Drainage density (4) Elongation ratio
IR WO B Y 3Ub S veiid e § -

(1) B %X (2) IRE FWHER OTH
(3) Fem a=a (4) FEMIIE U™

Which of the following set of crops contains C,; plants ?
(1) Cotton, rice and wheat

(2) Pearlmillet, rice and soyabean

(3) Maize, pearlmillet and sorghum

(4) Peanut, rice and wheat

Prefofa ¥ & e @ @ wed W4 TET B 7

(1) @9, 99 oix TE

(2) wEq, g iR wEEE

(3) wEH, N0 SN WX

4) Huwdl, g SR I

94 _A] 17
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58

59

60

When twe or more crops are grown simultaneously but do not have inter-
competition effects are called -

(1) turf crops (2) companion crops
(3) brake crops (4) parallel crops

S oE O a W fiUer BHd YWy IS STl €, Wik oo
FRI-Na@ut® g @ gy, wewel € -

(1) <& wEA (2) "EAT BEA
(3) Wb HEA (4) IR ®hEd

The germination, in which the plumule is pushed upward and the cotyledon
remains inside the soil is called :

(1) Epigeal germination (2) Negative germination

(3) Hypogeal germination (4) Induced germination

sigTur B 16 9iFT (plumule) TR &1 X U G wman & oY s
IS % &l B BH WA T, B OHEA & -

(1) ‘gdfreE’ sig (2) FTEE HFIT

(G) TR g @ TEFE S

Restorative crops are those crops which -

(1) provide a good harvest alongwith amelioration of the soil
(2) on growing leave the field exhausted.

(3) are able to protect the soil surface from erosion.

(4) are grown for temporary storing.
ganfafed wEW 9% @ed § W 6 -

(1) HET 9 AW IUS & Y- Y& GURE &1 W B B@ § 4
(2) IUH W Wd @& Fem (we) s oad ¥

(3) oRET ¥ Yot Waw dl @ w ¥ owam @l ¥ |

(4) orrll wW W WWE &g IS WRO§
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61 Growing of four crops per year in such a way that land is passed on to
another crop before the previous one is harvested is called -

(1) inter cropping (Z) relay cropping
(3) ratoon cropping (4) multi-storeyed cropping

it ad o) ol B U W B N 39 weR S R dadl wed &
®e § UEW JadEd] wEW € & WMo, @ ®Ed §

(1) &= /& (2) T e

(3) UST ST (4) agHwr A

62 If paddy followed by wheat or sorghum followed by gram is cultivated
in a succession on a piece of land in an agricultural year is called -

(1) multiple cropping (2) double cropping

(3) continuous cropping (4) rotational cropping

wh Y o ¥ uw Thow @ ¥ 9t gm & 9w R o SR % 9K
T H U H Gl B B HEd & -

(1) <—geadt (2) <Y N

(3) wad e (4) = mg &

63 Pop corn is -
(1) Zea mays indentata sturt. (2) Zea mays averta sturt.
(3) Zea mays saccharata sturt.  (4) Zea mays tunicala sturt.
T BT HeO 8 —
(1) far 9o s=2e w8 () foar 35 gaef w2
(3) fmar g9 dwiar = (4) Forar g5 exlder @
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64

66

Which of the weed is controlled by the use of Zygogramma bicolorata
as a bio-agent ?

(1) Prickly pear / Opuntic sp. (2)  Xanthium strumariun

(3) lantana camera (4)  Parthenimm  hysterophorus
frafafae & ¥ T oogo & Fesv &g Waere & &9 A @R
FEHIRer w1 yar fRar S %o

(1) TR (2) wifrm walem

(3) W= BHY (4) TR ="

Which of the following is an example of mimicry weed ?
(1) Green gram RMG-344 in green gram RMG-492 crop
(2) Black gram in green gram crop

(3) Chenopodium murale in berseem crop

(4  Phalaris minor in wheat crop

frafafad & @ ®F @ SHEEHA ST B SARIT T 7
(1) T RMG-492 @ ®&d ¥ HT RMG-344 & Wrd

(2) 1 & wad ¥ ssE & 99

(3) dhifteT i@ W B HEA A

(4) T H wEw ¥ Han@ AEI

Herbicide used to control 'Orobanche aegyptiaca' parasite in mustard
crop is -

(1) pendemethalin and fluchloralin

(2) alachlor and bentazon

(3) nitrofen and trifluralin

{(4) MSMA and DSMA

Tl & wad 7 eiRigat stafew T Tl % Fesw % i age
MBI ¥

(1) T 9 TRl (2) TEER 9 S

(3) TEAHT T FEHEICH (4) TITEEHU 9 ATHATAT,
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67 Which of the following is a spreading type groundnut variety ?

() A K. 12-24 (2) R G 141

G) T G 37A (4) RG 382
frafafed & @ Jreelt & = O bay T e ¥ ¢
(1) Wk 12-24 (2) SIS 141

(3) AN 37A (4) TS 382

68  Most commonly used herbicide in groundnut fields to control both annual
and broad leaved weeds is -

(1) Fluchloralin (2) Atrazine

(3) Alachlor @) 2, 4D

THl § @S T AW qA7 Ghatig wuaar & e W % fwe
TRl SUaiT § o STl 9Tl ¥

(1) W (@) whE

(3) TR 4) 2, 4D

69 The scientific name of weed species — wild mustard is -
(1) Melochia corchorifolia (2) Oxalis corniculata
(3) Vicia sativa (4) Cleoma viscosa

SUAl T AHE WA ® A " E o
(1) datfaar ke (2) oriFdfora BICHFgET
() Ffmr gesar (4) Frraitar Rreprar

70 Which of the following is not the selective herbicides ?

(1) 2, 4-D (2) Simazine
(3) Paraquat (4)  Butachlor
fea & ¥ &9 @ exggarens oo T ¥ 7
(1) 2,4D (2) Tl

(3) TR (4) =EEER
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Which disease of pearlmillet contains toxic alkaloids harmful to health ?

(1) Rust (2) Downy mildew

(3) Ergot (4) Smut

wWer ¥ ol o Udeaeg s % e O H o) s ¥ 7
(1) Tg A () HfRm snfEar

(3) amie (4) ®HUS AT

Seed rate (kg/ha.) of peartmillet in Rajasthan is —

(1) 2 kg (2) 6 kg

(3) 5 kg 4) 4 kg
wergE ¥ g @ 4w X (B ufy ) ¥ -
(1) 2 e 2) 6 fram

3) 5 4 4 Raam

Inter and intra row spacing of black gram is maintained as -

(1) 25 cms and 10 cms (2) 30 cms and 10 cms
(3) 40 cms and 10 cms (4) 20 cms and 20 cms
SeT B BHE @l o wd orw: dfe @t g B ¥ -

(1) 25 ¥4 &k 10 AL (2) 30 ¥4 T 10 ¥4
(3) 40 ¥A. &l 10 §. (@) 20 .4 afx 20 A

In which of the following crop, nipping is done to stop the apical growth
and promote the lateral branchings ?

(1) Pearlmillet {2) Green gram

(3) Bengal gram (4) Mustard

frafafag waal § @ e wad § 9B (T6) W A0E ¥ @ W ¥
@ 5 @Y A oider gie ores @ W 9 wid AR 3K R SR ?
(1) o @ A

(3) = (4) |
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The optimum temperature for germination and vegetative growth of

wheat 1s :
Germination - Vegetative growth
eC °C
(1) 10-13 and 8-12
2) 14-19 and 13-15
G) 20-22 and 16-22
@) 23-25 and 28-35

T % SiFw q qewied ghg F W gwead quEm ¥ -

3o l qFRATaE ghe
oC oC
() 10-13 IRy 8-12
(2) 14-19 ;T 13-15
() 20-22 it 16-22
(4) 23-25 aft 28-35

Which of the following state stands first in area and production of Bengal
gram (chick pea) ?

(1) Madhya Pradesh (M.P.) (2) Maharashtra

(3) Rajasthan (4) Uttar Pradesh (U.P)
ﬁ%%ﬂmawﬁﬁ%@aﬁﬁﬁﬁmwwwww%f
(1) w9 w9 (umdt) (2) TERTZ

() TR (4) @ WA (4)
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Minimum per capita pulses recommended by ICAR is -
(1) 20 gram (2) 40 gram
{(3) 70 gram (4)y 120 gram

T Hiy agEa Tiee g0 w wRe T @ e e
e % -

(1) 20 7™ (2) 40 7™

(3) 70 WA 4y 120 TM

When the seeds of pearlmillet and green gram are mixed and sown by
broadcasting method is an example of :

(1) rotational cropping (2) continuous cropping
(3) mixed cropping (4) sequential cropping

wa an T YT F drel st ey ewal fafu g 9 s 3o aw
SEEMT ¥ -

(1) = & (2) wWad A

(3) T smw (4) oTHRiNE A

Growing only one crop year after year on a piece of land is called -
(1) Sole cropping (2) Cropping pattern

(3) Companion cropping (4) Mono-cropping

e fifyog y—wrm ¥ yREd 0@ & wEd I @ @ed € -

(1) ¥ pi 2) wiT e
()  HACTET BIT (4) -
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80 In which of the following - critical growth stages, the wheat crop should
be irrigated, if water is available only for two irrigations ?

(1) Crown root initiation {CRI} + dough
(2) Late tillering and flowering

(3) Crown root initiation (CR1) + milking
(4) Late jointing and flowering

afe waw & Riomgat & o w@ oumew ¥ @ W @ Preafafea § @
DA A wiae ghg orawenstt W Wi weh widg ?

() 4 9 9 & WY + IET U S 9 999
(2) we Fed B Sifed arqem + Yo
@) it 52 s F o + T A ¥ ysd W
(4) e T @ oifm e + g

81 Maximum number of fruit plants can be planted in the orchard by the

system -

(1) Square (2) Triangular

(3) Hexagonal (4) Rectangular

T wE B e Ty § efumaw duimw fear s o@wma ¥ O°
(1) =R | (2) DBryswEer

(3) WY (4) TR

82 Which is known as "Teak of Rajasthan” ?
(1) Sins (2) Rohida
(3) Arun (4) Neem
D ORI H AT wEAR § 7
(1) faza ) Afest
(3) o (4) =
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Which one of the following is not an arid fruit ?
(1) Pomegranate : (2) Grape
(3) Bael (4) Aonla
e ¥ ¥ B W g TEag ® hw a7
(1) e (2) ST

(3) @w (4)  STaen

Best soil for planting a fruit orchard should have pH between :

(1) 35-55 (2) 45 - 65
(3) 65 - 75 (4) 75-85
wAEE W & Mu gdes gE fum we g uied
() 35-55 (2) 45 - 65
(3) 65-175 (4) 7.5 -85

A fruit called "Indian goosberry" is :

(1) Guava (2) Aonla

(3) Ber (4) Pomegranate
‘Rl (el R wE wm oM & 7

(1) o= (2) eitee

(3) (4) SER

Central Institute for Arnid-Horticulture is situated at :

(1) Bangalore (2) Bijapur
(3) Bikaner (4) Bhopal
T g A ders Rem ¥

() @R A (2) dragR #
() ddmR H (4) oI H
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87 High production in protective cultivation is due to :
(1) High temperature (2) High O,
(3) High photosynthetic efﬁciency {(4) All of the above
i el W aifie S @ ger e o
(1) =g draeH (2) oy STERieE
(3) ofuw vty dewwer TEar  (4) SUdER gl

88 Biennial Bearing is one of the most serious problem in :
(1) Mango (2) Datepalm
(3) Banana (4) Ber
feedl wem wo ger wmem ¥
(1) om # ) @ F
G) ww H @ ax

89 Leucacena lencocephala is the botanical name of ;

(1) Khejri (2) Israeli babool
()  Soobabool @) Ardu

BT HH G aEEiaE W s

(1) @@= @ 2) FoEd 9gw @
(3) EL @ 4y 3RS ®

90 Which of the following fruit crop have varieties 'Chitidar' and
‘Lucknow-49' ?

(1) Pomegranate (2) Aonla

(3) Guava (4) Mango

Toer @ wETe-49 fra ¥ 4 few we @ et ¥ 7
(1) & (2) Ataen

(3) omvE (4) am
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91 Mridula is a cultivar of :
(1} Guava (2) Ber
(3) Pomegranate (4) Aonla
Hgen e w@ @ fEe ¥ 7
(I} oM @) &«
(3) MR (4)  Siae
92  Seedless variety of mango is :
(1) Amrapali {2) Langra
(3) Sindhu (4) Dashehari
e & O Wwa Rew ¥ o
(1) S (2) e
(3) fry @) el
93 Best time of budding in ber is :
(1) July-August (2) September-October
(3) November-December (4) May-June
R H wlfasEA & Faod g9 %
(1) - @) Recpert—smrET
(3) TR @) "
94 In grafting lower part of plant is known as :
(1) Stock (2) Apical
(3) Bud (4) Scion
mitET § @Y % Fow 9w S o 8o
(1) ww (2) Tl
(3) Wi 4) waT
94_A] 28
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95 Ber is commercially propagated by :
(1) Inarching (2) Layering
(3) Seeds (4) T-budding
R H ARG YIHT B@T §
(1) R g @) wafar g

(3) I T (4) dA-—=fdeHET za

96 Commercial method of propagation in mango is :
(1) Vineer grafting (2) Seed
(3) Budding (4) Cutting
M & yasT @ @eEhe b ¥
(1) TR i @) @
() wiw&wET @) @A

97 Management of forest through peoples participation is called :

(I) Social forestry (2) Farm forestry

(3) Agro-forestry (4) Jomnt forest management

o9 gl § 99 S &%l %Ed § -
(1) wmRTes @~ (2) W& iierenr

3) g arfrRr (4) WgE o9 v
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98  Fruit cracking in pomegranate is due to deficiency, of :

(1) Nitrogen

(3) Boron

(2)

(4)

I W WA Hed @ T BRI T

(1) ==

99  Fruitfly is a major pest of :
(1) Aonla
(3) Mango
waned! fRuE g @e g 7
(1) stiaar @

(G) &M @

100 Richest source of "Vitamin C" 1s :
(1) Pomegranate
(3) Bael

ot “faefim—dr =1 899 ¥ -

(1) 8FR
¢y =
94_A] 30
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(4)

(2)

*

2)

*

)
)

2)

4

Zing

Copper

Pomegranate

Ber

JHTL bl

T @

Guava

Aonla
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